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20238 A %= A Q] of| AT A A]
oAb i 2ol 2 (gl A9
*E A o
: AR Gy NESH A&7 Z(9D) H) 31
32 g e QrEAnE .
1.0 4459 1,764,619| 1,808,148| -43,529
1. A A2 g A o] 4= 280,130 180,884 99,246
1.H A M4 280,130 180,884 99,246
1.7 2 AR AAGAD D = 280,130 180,884 99,246
LA REF (7] %) 280,130| 180,884|  99,246|3tul w2 A W] (A 5FH]) : 280,130,0009+18] = 280,130,000
2. AR NE YA 7| Ho] MY 1,484,489| 1,627,264 -142,775
1. uSH S AAY T 1,484,489| 1,627,264 -142,775
1. SR S-S A Y= 1,484,489| 1,627,264 -142,775
1.8 g uH = 764,154 781,755 -17,601|3tm 7] E-e-93H] : 490,292,000 = 1ul = 490,292,000
LA AH] 1 273,862,0009 * 11 = 273,862,000
PR DRI B 720,335  845,509| -125,174 iiﬂ%%ga%iﬁm 219,575,000 * 1 279,575,000
5 1A 13Eh] 9o :
iﬂjioﬁl(évﬂl,_ 3H]) 1 440,760,0009) 440,760,000
2. A A ) 176,374, 123,720 52,654
1.8 2R e 49 159,824 120,330 39,494
Lgo AR 159,824 120,330 39,494
1524 69,064| 62,530 6,534
1540 69,064 62,530 6,534 ﬁiigi”‘ D (4,996+494) €168 x185% 69,064,000
2.8 58k gk ] 16,400 10,800 5,600
1.3 38k maks )| 16,400| 10,800 5,600 }QL& SRRFAR ¢ 45,00091:2078 <26 2% 3,600,000
23hd SR ZA % 45,0009 #2078 #28] #27F 3.600.000
;fz‘“ﬁ_ EW W EXE 45,0009 %20 #2827 3,600,000
JANTFEY 1 280,0009%209 = 5,600,000
3. @A F S HH 40,760 0| 40,760
1. @A 3 8] 40,760 0| 40,760 2 11 FARAR P SLA00RIS0L g sy 000
g =
i?:d 28}7] FAEAF : 31,4009%301 9,452,000
f:s_ 187] FAEAE © 31,4009%348 10,928,000
‘1:?:3 28}t7] FAEA Y © 31,4009 348 10,928,000
4.EJ AR 17,400 25,200 -7,800
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TR Rl (2] - 4
1.9 17,400 25,200 ~7,800| EQ AHH] : 60,00099%2907 = 17,400,000
5. 71Eb o) AR Y 0 5,600|  -5,600
17182 g44 0 5,600|  -5,600
6.5 16,200 16,200 0
1&EHRgg| 16,200, 16,200 o T I A 45,000880M2H g 540 49
2. W ZLETY 16,550 3,390 13,160
1AM 2RSSR 2,000 90 1,910
1AM RRFTE 2,000 90 1,910
1AM R 2,000 90 1,910 | A A AHEE ¢ 1,000,00090#238] = 2,000,000
2. 2144 10,000 500 9,500
1. 242k 2 10,000 500 9,500
1. &2kl Zk o) 10,000 500 9,500 | E&E¥% wiztdl= : 5,000,0009%23] = 10,000,000
3. 71t A &5 4] 4,550 2,800 1,750
1.0l 354 3,000 1,800 1,200
1.0) AR 3,000 1,800 1,200| 012490 1,500,000%)#23] = 3,000,000
2,716 8485 54] 1,550 1,000 550
1.71et A4 544 1,550 1,000 550 | ¥ 2] &+ wiZbels : 100,0009+10Y = 1,000,000
S ZAEA SIAE B 1 500,0009%13] = 500,000
A&7E mpd A 1 50,00091+13] = 50,000
3.71€44 10,000| 20,000/ -10,000
1L.AdEo| a5 10,000| 20,000/ -10,000
1A AL A= 10,000 20,000/ 10,000
1eAAddF 10,000| 20,000/ -10,000
1.eAAY A= 10,000 20,000 -10,000|s=AlAIG I F 10,000,000 %13 = 10,000,000
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AT Helat (9] : 29D
Ab AdE | Hw L
mpey e pevey vy ey L EER I SR
Gl T R /& =
LA & 14,840|  147,490| -132,650
1.7]8F aA PR 0 58,080| -58,080
2. 71ekr% 0 58,080 -58,080
1. 097 0 58,080| -58,080
1. 71k 0 58,080 -58,080
2.0 Y 52 9 A7) 14,840 89,410 -74,570
1. w4 g =s) 5,140 7,640| 2,500
1.AF4as 4,140 5,100 -960
1. g Rk=8H 0 5,100 -5,100
2. 5352 540 0 540 | A& ZFALE 90,0009 %24 73w = 540,000
3. A A 1) 3,600 0 3,600 |2 FA4H] ¢ 60,00091+609 = 3,600,000
2. AHAF 1,000 2,000/ -1,000
1. g Hk=8-H 0 2,000 -2,000
2. 1A ¢ E 24 1,000 0 1,000 G2 A4=1] © 200,0009+57 = 1,000,000
3.71Etq g A 0 540 -540
1.9% 0 540 -540
2. A A5 9,700 81,770| -72,070
107" 1,400 1,400 0
1.99H| 1,400 1,400 0fe]@en] : 700,0009+27 = 1,400,000
2. 53324 5,000 0 5,000
1. 02 91521 3,000 0 3,000 ;ijﬂ)g:ﬁf%m RoERTY 3,000,000
2. kel 37| 2,000 0 2,000 ;‘i%%om @els] ¢ 10,000€1+10078 2 2,000,000
3. 71Etn A A 5A A 0 80,370 -80,370
13527 0 80,370|  -80,370
4. WA YN EEFERTA Y 300 0 300
1. A 5] n] 300 0 300 iz% S BaAA 100,004 300,000
5. A AL 7 A H] 3,000 0 3,000
1. A Y B n) 3,000 0 3,000 | A ABL7 AN 30,00091%1007 = 3,000,000
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202381 %= A = of| 4T Al A
of Ak L of 2k (ch9l 1)
A
: - el | D55 0 RESEIE)
A ] | A AR A7HE AH & e O
2. AYRA/AEAAL B4 1,161,590| 1,065,818 95,772
1.52 #e 1,084,929 984,505 100,424
1.3t g4 +9 1,084,929 984,505 100,424
1.2 A1 32,289 33,784 -1,495
135217 28,281 30,244  -1,963 %5 : 1,580,0009%12¢ = 18,960,000
WESEY  93,4009%129 = 1,121,000
A 0 50,00090%129 = 600,000
AxFER 2,500,000 %19 = 2,500,000
g2 F @ 5,100,00090%13] = 5,100,000
2. AP 4,008 3,540 468 | FH1AF 1 130,0009%12Y = 1,560,000
AZRF 1 110,0009%129 = 1,320,000
A7) QR ¢ 14,0009+129 168,000
AERI 1 50,0009x12€ = 600,000
AAREF :30,0009x129 = 360,000
2. 72 A A1 AN 247,286| 234,520 12,766
1352l 214,280 204,440 9,840 91 1 450,000 129 = 5,400,000
AzFEw 11,100,000 %13 = 11,100,000
EE 1 14,140,0009%129 = 169,680,000
B2 Fo] : 28,100,0009%13] = 28,100,000
2. 717 A2 &2 71 M) 0 2,000|  -2,000
3. APAT T 33,006 28,080 4,926 | =0 AF 1 900,000 %12 = 10,800,000
AZRE ¢ 1,117,84090129 = 13,415,000
718 FRE  132,56090+12€ 1,591,000
LEHE 400,0009129 = 4,800,000
AR 1 200,0009 %129 = 2,400,000
3.3 A A BTG 718,360| 642,598| 75,762
1.aA 82 A =0 718,360 642,598 75,762 © F-AH 79 ¢ 71,835,9709+10Y = 718,360,000
4. 5289 71,594 65,943 5,651
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oAb o Eoitk w9 s de)
A
AdE | " .
AR | G | A ARG A7 5 A = il @
1. duk=40| 39,974 39,743 231192 ARF 49 ¢ 2,100,00091%12¢Y = 25,200,000
o] A X o] = 2.oJn] °
4 3; T T 7IERodH] ¢ 377,40090 3,774,000
x109Y =
Zk ElH] : 1,100,0009%10€ = 11,000,000
2. A7 8 F 10,000 7,000 3,000/ 471 & F : 1,000,0009%10Y = 10,000,000
3T ESR 7,000 6,000 1,000 | A8t F 1 700,0009109 = 7,000,000
4.8 14,400 13,200 1,200 | AHE =A7F2H] © 1,200,0009129 = 14,400,000
5. 1A Y EX] 1) 220 0 220 | AZAZIN] 1 20,0009 119% = 220,000
5.7)Ebslt g2 9 15,400 7,660 7,740
AN ZHAA AFZLESFTG ]
1.3F2 A 7n] 2,400 0 2,400 iﬁiﬂz BAb RS 10,0009024 240,000
(AA)ZB A FAL AFEZ4E 0 10,000
w2 707 = 2,160,000
Az AL A A elAn
2. 717k A =2 Aol 7] 1,000 0 1,000 HDEEIZAL A ] 1,000,000
500,0009)%23] =
3. k=8 12,000 7,660 4,340 | R SH] 1 50,0009423] = 100,000
O] A 3wl o) 3L o] . Ke)
£ %:%w 2 obdEF 9] ¢ 100,0009 1,000,000
109 =
FAAIA A B 1,000,000 453] = 5,000,000
Fo 9 HA H4u] 1 1,250,000943] = 5,000,000
Qdofzheld 9@ FAA &3F 7Y 0 150,000 300000
Ax23] = ’
APEEE 2 FEFYHE] ¢ 150,000 #43] 600000
2.1 7%g 56,761 56,113 648
1. m g1 A0 7] 38,621 35,782 2,839
1.38F oA F A 3] 1) 11,781 11,100 681
1.8 2] n) 11,781 11,100 681 | Bt A A 3| H] ¢ 12,6009%935™ = 11,781,000
2.t A7FAA 13,380 12,292 1,088
1,84 B H| 13,330 12,292 1,088 | 22 AAN(2,33Md) 90095809 = 522,000
A 7AA(2,38d) : 3,5009%580™ = 2,030,000
ABANQ3I) : 30,5009%3557 = 10,828,000
3.874489 8,550 11,870 -3,320
1. 9ukE8n) 1,650 1,370 280 | A WAL SH]) 1 100,000 # 19 #13] = 100,000
BAALG AE] : 150,00092387] = 300,000
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= h =
20238 A &= Al = o AL Al A
of| A3 o 2k (9] - A
A
Adx | "W .
AR | G | A ARG A5 AN & il &
] Al @ o 5\__1;1_1 o] . ko) 38
HAARY = TY 350,000 #273} 700,000
7] =
Wl B3 19) 1 250,0009#287] = 500,000
HAALSFEE 79 © 50,000913] = 50,000
WA A aAE A S
2. 9953 2,200 2,100 1007 < 1,000,000
37 1,000,0009113] =
WS AR 1 400,0009%33] = 1,200,000
3. &g H| 200 400 200 BANZAE T 1 200,0009%13] = 200,000
4.8 B H] 4,500 7,500 -3,000| 2k 2 9JALFE T 1 900,000953] = 4,500,000
5. 8] F 4] 0 500 -500
4. WA QAT AN 4,910 520 4,390
1. 37 ¢ B8] 4,910 520 4,390 LA D AMNHAL ¢ 700095509 = 350,000
WA AFEANHAL ¢ 38,00099%1207 = 4,560,000
2.8 w8k 7 9 Al ) 18,140 20,331 -2,191
1.HE=53e 15,200 16,781 -1,581
A= Hged e (S AgAa)
1. uk=8-n 15,200 16,781 -1,581 4571wl 8 ﬁ?(‘“‘tﬂ 8 14,400,000
1,200,000 «12¢ =
EWAA SIS (LA A) 1 400,000 900,000
Ax23] = ’
2. 57149y 0 1,800 -1,800
1. g8 0 1,800 -1,800
3.9 e 2,940 1,750 1,190
1. g ukE8H| 2,100 1,750 350 | AR 9] e zha]n] @ 300,0000#73] = 2,100,000
A s o)e] R oL -
2. AR AY AR 840 0 gao| SAVRAREAH WATHT 70,000 840,000
129 =
3.3FA %) 19,900 25,200 -5,300
1.3 5% 8- 19,900 25,200 -5,300
1.9 A= 17,700 25,200 -7,500
1. 0889 H] 17,700 25,200 ~7,500| (5] ") ZF AHH]) 60,0009 %290 = 17,400,000
5 ] Zolaly ILoly] - °
(ARG SFLHFYH 60,000 300,000
*5H =
3. WIA B 2,200 0 2,200
1. g k8-1] 2,200 0 2,200 | LA -&HE £99H] © 2,000,0009%13] = 2,000,000
ﬂﬂr*j Hj 5 g AMREE R 200,000 200,000
Ux13] =
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20238 A= A= of| AT A A]
bR 1 Helat (29 = A
A
" ey | 395 RESEIC)
4| a9 | A% AReE QrEAN At | 3k
37184 u&gs 186,038 142,705 43,333
1.y &% 81,130 88,235 7,105
1. 335 x¢d 12,700 8,000 4,700
1. WAL IA (A T2 A]) 8] 4,000 4,000 0
1. A F -9 H] 4,000 4,000 0 ;:Al%ﬂyw(;qyﬁ?ﬂ 1 50,000¢1+80 4,000,000
2. 3 AM)Fd 4,500 2,000 2,500
1. 71k 4,500 0 4,500 | 9 ARZFFE 0 15,0009#3007 = 4,500,000
2.+95% 0 2,000  -2,000
4. A 5T T A 3,200 0 3,200
| s oo 9.400 0 9.400 {i%@@%%%zﬂ =99 1 30,0009 #8078 2.400.000
2. 4R Fx] 800 0 800 zg%aﬂ%%%xﬂ A1l : 10,00031+80 800,000
5. 98547 A A LA Z E 9o 1,000 0 1,000
1.7 e R 2 =) 1,000 0 1,000 TL%%&:EE%M?‘Q © 1,000,000 +13] 1,000,000
7. 98547 A A LA ZE 9o 0 2,000|  -2,000
1A 7§30 0 1,000 -1,000
2. 71EkA2HE 5] 0 1,000 -1,000
2.Zo] witds 2,000 1,000 1,000
1.5 w9 2,000 1,000 1,000
1.9 2,000 1,000 1,000 | o] W ab&o B-3E 9] ¢ 500,000 +238] = 1,000,000
SRk H] 1 500,0009%23] = 1,000,000
3413 w3}aHg 1,650 850 800
1.AF8] w32 1,650 850 800
1. &g 1] 1,650 850 800 f@ﬂ‘ﬂf%c’é%%?% +500,00091%2517] 1,000,000
NEALS] - WAL &-H] 162,500 650.000
#43] = ’
4,523 nngF 2,500 4,000|  -1,500
1.8t -4 2,500 4,000|  -1,500
1. 0% H| 2,500 3,000 =500 | hal A 1] 1 250,000 4 7] 2HE = 1,000,000
$staw AL 100,000 #63] = 500,000
A 20239 019 31 164 448 54% 10 AN EaS7 A are s




202381

of| A3 o 2k (9] - A
A
Adxs | vl -
AR | G | A ARG A7 5 A = S ©
FEATYH] 10,0009 %10F103] = 1,000,000
2. =A< 0 1,000 -1,000
5.%3 wngd-s 23,720 31,275 -7,555
1. 78 - 14,100 15,300 -1,200
1,949 800 800 0|ZaE7F 7A@ 400,0009 23] = 800,000
)8k vl (kA #n : 2
) ﬂ‘?ﬁ“\%ogﬂ] 13,000 13,500 -500 ]’—1—‘-‘—?:?' ](1_1_0 ] 9’]) 50,0004 3,000,000
*30%*2§] =
PARG PN ZH] (A ok : ke =
EIZE.'\:IZH ]( ]_l 9’]) 50,000&*500 5,000,000
%23 =
el A B] 500,000 #47) & = 2,000,000
AFE AEH] 0 250,0009 23] = 500,000
o7 S=2lH] : 500,000 %13 = 500,000
3} 8} 3= 2] o 1) (2F = 3 = 3=
J’]’—veo;q‘:]. ](—1 o; EH§], OO]—E] = O 2,000’000
2]) @ 100,0009%203] =
3. HFETYH| 300 0 300 A3 A FHAH A7) 1 300,0009 10 = 300,000
4. EA 4] 0 1,000 -1,000
2. 719 3,720 3,000 720
Zeg) Al A 2] 9] %9 3]
1&g 3,120 2,400 70|V E ABAGH 1 130,00081-257]12 3,120,000
b = R
- 23} A A LZP|ELO] o113
Z.H]%:TLO\QH] 600 600 0 71344' (=l R =] ]ﬁ H 600,000-(_*1§1 600,000
3. 7H a4 5,900 12,975 -7,075
g}l A& A Z=h] o] 40 &F
132883 2,400 2,400 o P8 BH T ¢ 10,0008 25 7] 412 2,400,000
=R
A 3 Al S A Lg)ESLo) . £
2.1 F v 3,500 10,575 7,075 giﬁf dHA=HETA ¢ 1,000,000+ 1,000,000
744 BETY 0 2,500,0009%13] = 2,500,000
6. 4% wdE 10,350 13,350 -3,000
1.3 5 w23 10,350 13,350 -3,000
1. 2] 9] 2] H] 1,000 1,000 0| A S AL F =] ¢ 250,0009 x4 = 1,000,000
2] S- A1 A 2l 1 20 o 2~ 0 )
2. W& 9.350 12,350  -3,000 I AIERIA TR A Y] 2,000,000
2,000,0009+13] =
A7ZA G0 gH 30,0009 #454] 7k = 1,350,000
qu%mnm_?g%—u] : 60,0009 %105 *103] 6,000,000
7.4d% 1ngs 8,930 10,350 -1,420
1. 5ot - 3,600 5,900 -2,300
AgdF 20233 01€ 319 16A] 44% 54% 11 A7 =S v als sl




2023 A %= A= of AHE Al A

bR 1 Helat (29 = A
A
" dapey | A=l AE72(9)
4| a9 | A% AReE QrEAN At | 3k
1. a9 2,600 2,400 200 | I ol =Fg 150,000 «20] 23] = 600,000
Sotu TG EFTS] ¢ 500,000 x43] = 2,000,000
2.1 1,000 3,500 -2,500|2}7] ¢ 1 500,000 23] = 1,000,000
2. W= e 5,330 4,450 880
1.5 5,330 4,450 880| Pl <5H]  220,0009+198 7 = 4,180,000
A7) ) 3)2-du] 1 250,000013] = 250,000
W E T YH] 1 450,000 #13] = 450,000
A ZE A S 2 ¢ 450,00099%13] = 450,000
8.9 %o w¥ss 3,150 3,040 110
1.8 5ol a8 3,150 3,040 110
1. A& 3,150 3,040 110 ;%?(j)?gl;%% e FETY 250,000
_%%ﬂﬂﬂ}%%%%?ﬁ : 150,0009)%23) 300,000
Fojuw G EFTY ¢ 500,00099%23] = 1,000,000
GAAEAZ 1 1,200,0009%13] = 1,200,000
fewgomr)r%og%%%cg © 200,000 #23] 400,000
9. 5F {3 gs 13,130 13,170 -40
1.E4ugney 11,180 12,170 -990
1.95g) 800 300 0 fé;—l_!itof 2O ZaS ZFAR] 200,000 4 800,000
2.4 1,700 1,200 500 | 1& AL H] 1 50,0009 %1738 +278 = 1,700,000
3,580 7,38|  10,170|  -2,790 ;i?gf}g R BIRLATY 468,000 4,680,000
Xl@.*}ilxﬂ,%%iﬂ] 1 20,00091%137%103] 2,600,000
Az w A g n] 0 50,0009%23] = 100,000
4.9 F94u| 1,300 0 1,300 | A 7124l 91 ¢ 130,0009+103] = 1,300,000
3.44AEAY 1,950 1,000 950
1.9 1,950 1,000 950 | A Q54 1 390,000 %53] = 1,950,000
10. 4R w33 3,000 3,200 -200
1.3EEnEAd 3,000 3,000 0
1. a5 3,000 3,000 0|3t E 9] 1 10,00093007] = 3,000,000
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2023HA %= M| = of| 2HE Al A

of| A3 o 2k (29 - HdD)
A
AdE | " .
AR | G | A ARG A7 5 A = S @ =
2. 39 nS%E 0 200 -200
1. 108990 0 200 -200
2.7498 APs 104,908 54,470 50,438
1LAESS 16,300 20,750 -4,450
1. 8RR 3] 52 1,800 3,800 -2,000
1.8 E A 1 1,800 3,800 -2,000|3-A 3] AA-LdH] : 300,0009%13] = 300,000
sk 3] & o3 100,000 53] = 500,000
SAZE AZH 0 1,000,0009#13] = 1,000,000
2.8t 39| 0 7,400 -7,400
1.08$dn 0 7,400 -7,400
3.8 W E A &3 2,700 6,550 -3,850
‘?:,_] | A~ tﬂ%oiﬂ : o]
1 g g 2,700 6,05 -3,350 2o HASEEEDA < 1,000,000€41 1,000,000
ZA&dH] : 200,0009%13] = 200,000
=4 ] Al x o3 EZFl) :
"'Txﬂ Tm E‘x]-‘j](nt?)y T8 ]’) 1,500,000
1,500,000 13] =
9.8 AE 2] 1) 0 500 -500
4.7+ EA S LA DS54 0 3,000 -3,000
1. 058 H| 0 3,000 -3,000
5. (A& A 2+5 2 5 o 3] WA A &5 =BD00 0 3,000
P AL A = 8l 3lulo- 2 8- 3] oo n
:3,000,0009%13] =
6. (A& A)) & 5 A -4 1,200 0 1,200
(AEHADFA G (ZETY, FF, 2
1.0%9-n 1,200 0 1,200 e ' 1,200,000
G Ll S :1,200,0009#13] =
7. (A& A 8- v 3,600 0 3,600
2}S- 1 ooy 9] 5—_!_3
15590 3,600 0 3.600 (_}gﬂrzﬂ)#HL 3] 100,000 +363H 3,600,000
8. (A& A A AA] 3] 529 4,000 0 4,000
] (A& AN RS AS] 223 74
1.8 8w 4,000 0 4,000 - N 2,500,000
85 2 shEu] 1 2,500,000913] =
93] A3 2-oln] ©
(_Z}gﬂrxﬂ)z 33] <44 100,00091*15 1,500,000
3,:] =
2. 83AggHFEE 43,775 0 43,775
2.(Fo) A 18hd A A 3 85 21,856 0 21,856
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2023 A %= A= of AHE Al A

AR ¢ el (s} - s
A
Z]1d H] !
ey | Do= M HEA ()
W= dﬂ}\]-oﬂ =7} =/l
AR | G | A ARG A7 5 A = il &
[l o3 fo) 3 & a
1. 08-odu] 21,856 0| 2185617 FARARRE AYARAS 488,000
1,400 3487 =
18}7] FAEAE S 95 0 30,0009
' 10,440,000
#3487 =
& 5182 o] Ao
2 7] Tx'ﬂ Zﬂ h= S I =] O:]sg;(]'i h= S 488,000
1,4009 3487 =
il oA st ol E - 5]
287 FAEAFESE YFE 30,0009 10,440,000
#3487 =
3.(F2p)2ghd FAE A F 85 18,904 0 18,904
18}7] FA-EAY G APARLPR ¢
1.0%-99n 18,904 0 18,904 422,000
WG 1,40091%301% =
aF 3l QA <
187 FAEAD eSS 445 0 30,0009 9.030.000
x3017 =
287] FAEAG TS APARF R ¢
422,000
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